                                   Math 10031 Chapter 1,  Sec 1 Practice problems with Real Numbers
                                                  Supplemental Problems

Additional definitions:

         Note that:  1)  Rational numbers are numbers which can be expressed as terminating decimals or
                                  as non-terminating decimals with patterns.

                                       Example:   
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                                                         are rational numbers

                            2)  Irrational numbers   are numbers which can be expressed as non-terminating decimals

                                   without a specific pattern.  

                                       Example:      
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     are irrational numbers                      

1) State which set or sets of  numbers the following are elements of : rational ( Q), irrational (IR), integers(I), whole numbers(W), real (Re).

            a)  
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           d)  
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                                     h)   0                                            i)     15.151525354…     
2) On the following number line estimate where each of the given numbers are.
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                     –3                                                        0                                                   3
3) For the following number lines, fill in the missing decimals at each mark.

                
0.023 0.28

                                                                                                                                    

0.5021                               0.5121                                     0.5221

4) Insert the proper comparison symbols( ≥ , ≤ , = )  in the blanks. 

a) 0.18  __________  1.8

b) – 1.2 _________  –1.5

c) 0.25 ________  0.247

d) 
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 ________  3.35

5) Order the following numbers from least to greatest.
a)       
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            1.353            1.35   
b)     – 4.52               – 4.5                – 4.53             
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6) Complete the following table.

	   Input values
	Output values
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	       5

	         56
	     

	    
	     72


         The rule is : ____________ 

              Complete the following number– grid puzzles. ( Pay attention to the place values of the digits)
	
	
	 48
	

	
	  
	 58
	

	   66
	
	  68
	

	   76
	
	
	    79


7)     The rules of this puzzle are: ____________________  ( Describe in terms of  place value  digits) 
8)        The rules of this puzzle are: ____________________   ( Describe in terms of  place value  digits)
	
	  75
	
	
	
	
	  80

	 
	
	  86
	
	
	
	

	
	
	
	97
	
	
	


                                  Answers to Supplemental problems Chapter 1, Sec 1 
1)  (a)  Q , Re               (b)W, I, Q, Re           (c)  Q, Re                      (d)  Q, Re             (e)  Q, Re

      (f)  IR, Re               (g)  I, Q, Re               (h)  W, I, Q, Re            (i)  IR, Re
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2)                               
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                                                                               2.45            3.5
            
                            –3                              – 2                0                               2                  3

3)   For the following number lines, fill in the missing decimals at each mark.
      (a)                                               
                

 0.23                 0.24                 0.25                  0.26                    0.27                  0.28

(b) 

                                                                                                                                    

0.5021          0.5071               0.5121              0.5171              0.5221               0.5271   
4)  Insert the proper comparison symbols( ≥ , ≤ , = )  in the blanks. 

a)    0.18   ≤  1.8

b) – 1.2  ≥  –1.5

c)   0.25  ≥  0.247

d) 
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  ≤ 3.35
5)  (a)    1.35    1.353     
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     (b)   
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        – 4.52      – 4.5        – 4.53   
6)     The rule is :   Input value + 8  

	   Input values
	Output values
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	       5

	         56
	      64

	         64
	      72


                                          Answers to Supplemental Problems Chapter 1 Sec. 1
 7)     (a)     The puzzle rule is:   A move from one row to a lower row  the tens digit is increased.  A move from one 
                                                   column  to an immediate right column the ones digit is increased.
	
	
	 48
	

	
	  
	 58
	

	   66
	   67
	  68
	    69

	   76
	
	   78
	    79


(b)   The rule is:      Same as   puzzle  7 (a)

	
	  75
	 76
	
	
	
	  80

	 84
	
	  86
	87
	
	   89
	

	
	
	  96
	97
	   98
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